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N EEES 111,000 111,000 0
OF &2 2 X & AR (K 57,800
R ES] 2,400,000 *5CH 12,000
0 AZI|X & 45,800,000 45,800
ORSHM I 2 ALY
106,400,000 %0.5 53,200
XA EH DI R DI 2 ALY 500,000 0 500,000
| 500,000
401 ASHILLHY 500,000 0 500,000
| 500,000
01 AZH] 500,000 0 500,000
O ME| DSR2 2 500,000,000 500,000
p] 500,000
e e E S ESY 900,000 0 900,000
= 500,000
= 200,000
2 200,000
402 QI2T0IH 900,000 0 900,000
= 500,000
= 200,000
2 200,000
N EEES 900,000 0 900,000
OZAHSBLZSUNEL AL
1,000,000, 0002 %174 A+0.9 900,000
2 500,000




SA: s EME
Hu: s)AS K
ool FEFsY 84 (649 &8
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
< 200,000
2 200,000
HSBASZSALCT S4 375,000 750,000 £375,000
= 187,500
= 187,500
201 Ygr2gy| 7,700 19,450 A11,750
= 3,850
z 3,850
01 A= 2elt] 7,700 19,450 A11,750
OZs X Ler2y| 7,700
0 BRI LA S| 6,700,000% 6,700
= 3,350
= 3,350
oEBUNSY LY 500,000 +13] 500
= 250
2 250
0BT AR 500,000 *13] 500
= 250
2 250
301 YstPAZ 2,000 14,650 A 12,650
= 1,000
z 1,000
10 BAFAHIZAZ 2,000 2,650 650
OZBCX SAAMHIEAZ  2,000,0002 18] 2,000
= 1,000
2 1,000
307 QI2H0lH 6,000 0 6,000
= 3,000
= 3,000
04 BIIBAIZE 6,000 0 6,000
OZBHCHX AHI XHH & 3 Al 6,000,0002! *15] 6,000
= 3,000
= 3,000
402 DIEXHEOIH 359,300 511,400 A 152,100
= 179,650




=PI
HH: S)AS X
ool AEYSY §4 (S5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
402 PI2EXHE0|H 2 179,650
01 UIATEEE 359,300 511,400 A152,100
OB X BB ST 247,300,000%! 247,300
= 123,650
2 123,650
OBBSX RSH| 58,000
0BBEX SHEHD|
8,500, 00024 *5C40.9 38,250
2 19,125
2 9,125
0 ZECX MAlE 50,0002 +200+0.9 9,000
2 4,500
2 4,500
o EBBTHX LAY 1,00024%21,500%0.5 10,750
2 5,375
2 5,375
OB MLFH| 54,000
0BBEX SHHED|
3,000, 00024 *5040.9 13,500
2 6,750
2 6,750
o BB X 22| 4,500,000 *10CH+0.9 40,500
2 20,250
2 20,250
AEYsot A5e 35,000 35,000 0
207 SRIHEH] 25,000 25,000 0
03 A&7l 25,000 25,000 0
OB SAE T 25,000,0002 25,000
01 YBEH 10,000 10,000 0
12 JIERAD 10,000 10,000 0
OASAESI M2 10,000, 000! 10,000
SIS MY 304,330 203,010 121,320
2 16,560
= 71,925
2 235,845
A=A L w342l 104,300 28,200 76, 100
I




A sII=4H
M shtas N&E

Bl SIIAHS ALY (el &)
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES e Ol Ak O Z
201 YUBt2HH] 23,300 17,200 6,100
01 AR2t21H] 18,400 17,200 1,200
OYUHAIHEESHZE & SHOIX 22
1,000,0002! 14! 1,000
OZUHSEAIRA HHI] & ARESHI
500,000& 14! 500
OsJIAHSUHAY & =2l=cl II=H|
150,000 3% 23 900
OLHAFS Al B S X b 100, 000! » 140CH 14,000
OsJIH=s42 227 100, 0002 *20 & 2,000
02 232934l 4,900 0 4,900
OAUSIIH 2B 2 35,0002 * 140CH 4,900
206 MEHl 10,000 10,000 0
01 TZl 10,000 10,000 0
OsJlAlzs el 257
10,0002 * 1,000 10,000
401 AlEHI LR 21,000 0 21,000
01 Al&H] 21,000 0 21,000
O3EFEIBZAE HE+
20,000,000 *17H £ 20,000
OSIIHERED BOtAIA 500,0002 x2= 1,000
405 RHAHE S 50,000 0 50,000
01 XatLSEFSH| 50,000 0 50,000
OCdU=sIIAH 7 50,000
0SER=ED 15,000,000 *2CH 30,000
ozag=IH 2,500,000 *8CH 20,000
sIH=EAE 34,020 22,400 11,620
= 16,560
2 17,460
206 MEHl 2,520 1,800 720
= 1,260
2 1,260
01 MZHl 2,520 1,800 720
OBZ0IBIIZNS M2 21,0002 *120H 2,520
= 1,260
2 1,260




A sII=4H
M shtas N&E

Sl sIIHE ALY (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2

301 LetEA3 1,500 600 900
= 300
= 1,200

10 SHALAHI 2 A 1,500 600 900
OZTH? SIH ns2a 150,000 6 H 900
O8AM|IE)IsnNsSEA 5,00084 120 600
= 300
= 300

405 KHAHE S 30,000 20,000 10,000
= 15,000
= 15,000

01 KL SEFEH 30,000 20,000 10,000
OsJIHEAZEH 2 30,000
oIlOIZ HICl A& D 4,200,000 = 1CH 4,200
= 2,100
= 2,100

OATHIIM I (EHYH BER)

16,000,000 *1CH 16,000
= 8,000
= 8,000
o M&d|(teAE) 9,800,0002 *1CH 9,800
= 4,900
= 4,900

SIIH NRAY 186,010 152,410 33,600
[= 71,925
= 114,085

402 QIZHXH=0|H 186,010 152,410 33,600
[= 71,925
= 114,085

01 RIZtXEEX 186,010 152,410 33,600
OXNEEEI| 22 200,000 *107CH 21,400
[= 6,420
= 14,980
og#zezI =22 1,800,000 *165%0.3 89,100
[= 44,550
= 44,550




A sII=4H
M shtas N&E

Bl SIIAHS ALY (ctel &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Ogxs e A MIISKA
300, 000& «50CH*0.8 12,000
< 6,000
o 6,000
O=sg 247 XN& 4,300,000& *«10CH+0.6 25,800
& 12,900
o 12,900
OM A B2 EHIXIR (ZED])
1,712,500 *3CH+0.8 4,110
= 2,055
o 2,055
OUHAHSZCOIAF XI& 400, 0003 =84 CH 33,600
BUSH elZet 25 9,432,861 6,386,791 3,046,070
= 130,295
s 1,246,000
| 916,000
L= 1,957,458
= 5,183,108
RS MADIEH =M 3,159,191 2,520,190 639,001
= 97,000
s 746,000
& 810,640
= 1,505,551
LI B33t 578,000 934,500 A 356,500
= 289,000
= 289,000
402 QIZEXE01H 578,000 934,500 A 356,500
L= 289,000
= 289,000
01 QtR=Ex 578,000 934,500 A 356,500
OLIBHALSKZAY
1,156,000, 000& *50% 578,000
& 289,000
o 289,000
A MADBE H| 307,000 412,000 A 105,000
206 M=l 56,000 120,000 A64,000
01 MZ bl 56,000 120,000 264,000




ANSH Tt nE
L ROIST M| E4
_ _ pSNE e
HI . 2(SH) - MEAY - BY= Ao Gil it o
B EEELE
250, 000& *400ha*50% 50,000
OJlsd A=A MoK 6,000,000& 6,000
07 gI2told 3,000 3,000
QIZHHALE & 3,000 3,000
OAE20 Hetsl MsA 3,000,000& 3,000
402 RIZHRIZO0IH 248,000 289,000
QI2tAt= 8 & 248,000 289,000
ON&RI0] OB T3 CH 2
240,000& »300= *50% 36,000
ORCISE BENY NAL
6,000,000& *103 *50% 30,000
ORUSE AXT| XA
3,800, 00024 *10CH *50% 19,000
ORNSHHSHED XL
8,000, 000& x5 *50% 20,000
OHEDI| ZQuM4 ALK
20,000,000& *3= *50% 30,000
OXSH ISHEF X2
100,000, 0002 * 14 4 *50% 50,000
OSt ol HR X2 (SLT) AL
4,500, 0003 2074 2= *70% 63,000
A HX 54 851,600 103,500
< 388,640
= 462,960
402 QIEXE01M 851,600 103,500
= 388,640
i 462,960
QI2tXt= 8 X 851,600 103,500
OJIESHE AMEE2 467,200,000& *50% 233,600
= 93,440
i 140, 160
OstslsS&dl &3 AMY 236,000,000 *50% 118,000
= 47,200
fia 70,800
Ostsll==XxL4 1,200,000, 000& *40% 480,000
= 240,000
[ 240,000




A sII=4H

HE: A0SH oL 1
el ROISH M8 T4 (9l &2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
O3t 2etatES 40,000, 000& *50% 20,000
< 8,000
fiis 12,000
EHAUSEBIHMEsHEL(NAESAY) 420,000 310,000 110,000
s 300,000
= 60,000
= 60,000
402 QI2tXE01M 420,000 310,000 110,000
s 300,000
& 60,000
2 60,000
01 QX=X 420,000 310,000 110,000
O&=2Z8I| HE=stxd
15,000, 000! *40S *70% 420,000
P 300,000
< 60,000
[ 60,000
APTHE R MAD|BEE S (XIS S3HALY) 624,001 344,000 280,001
s 446,000
= 53,000
s 125,001
402 2ItXE01M 624,001 344,000 280,001
s 446,000
= 53,000
= 125,001
01 QUARE2EX 624,001 344,000 280,001
OATHOEE M A BHE A
891,430,000 * 11 2 *70% 624,001
s 446,000
= 53,000
i 125,001
HUEE tF A 164,590 175,090 A 10,500
201 BRI 23,460 24,450 A 990
01 AtR2&cldl 23,460 24,450 A990
OAMRE RE7Y 2503 «20001 =123 600
OJIEt=&HI 8,500,000& 8,500




SN S L HE
MH: ANSH o Tet
oo RICISE MAD|E

_ _ SIEN
SN EB -GS - MBAY - BES arey e HRE2
OJRUNSHLNSIHA Xt 500,000& 23| 1,000
OAMF=AA =8¢ 50,0003 = 100K 500
O= &l 12,860
ORUSH AR =X OHAY]
12,860,000& 12,860
202 OdHl 26,130 35,990 A9,860
01 =LHAHI 26,130 35,990 9,860
ORNSHLHRFA 26,130,000 26,130
402 QI2EE01M 115,000 113,950 1,050
01 QX=X 115,000 113,950 1,050
OX OtXHBH X1 & 50,000,000& *0.5ha 25,000
O/ THA =M A SR A XA
15,000, 000& *10= *50% 75,000
OFEF A=2%M X 5,000, 000& 5,000
OASEE BTy
20,000,000& *1ha*0.5 10,000
FOIM e d atdl X2 20,000 15,000 5,000
= 20,000
402 QIEE01M 20,000 15,000 5,000
& 20,000
01 BIZtA=2E=x 20,000 15,000 5,000
O=0lM +HMAH| XI& 20,000,000& 20,000
[ 20,000
MII=ESAIEALY 194,000 0 194,000
= 97,000
= 97,000
402 QI2EGE01M 194,000 0 194,000
= 97,000
= 97,000
01 Y2tR=Ex 194,000 0 194,000
ORElardlat SIS AL XA
20,000,000 * 108 2 20,000
= 10,000
i 10,000
OEctolA MaD[= Al
100,000, 000% =170 & 100,000




A sII=4H

HE: A0SH oL 1
el ROISH M8 T4 (9l &2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
- 50,000
i 50,000
OZZEIHE HR2SS MEHAIE
16,000,000 104 2 16,000
- 8,000
[ 8,000
OsEdEgZzNgl=2=2
20,000,000 * 108 2 20,000
. 10,000
i 10,000
OXZEsHHAAE JHE Al
38,000,000 * 108 2 38,000
= 19,000
[ 19,000
HEAL BES E4 2,779,172 1,978,908 800,264
= 26,876
s 500,000
& 243,500
= 2,008,796
HEALZH O 2 =S 2,122,520 1,200,000 922,520
s 500,000
& 100,000
= 1,522,520
101 el H] 1,920 0 1,920
10 JIZHNZ22XNSEx 1,920 0 1,920
O3 AE 24D, th=Xl Zdl S ZAlIA
HelRY 32,0003 »2H +30 1,920
201 Lt 600 0 600
02 =224 600 0 600
OMEANH 2els I3 50,000& 123 600
401 Al HIZ 20| 2,120,000 1,200,000 920,000
s 500,000
L= 100,000
i 1,520,000
01 Al&HI 2,112,368 1,185,680 926,688
OHEADE O AT LAY Al&H|
2,112,368,000& 2,112,368
[ 500,000




SN

J(‘I iH:

C|— Ol

DOIEAML BES

Jl=4H
BWex o 2a
=

0% M

- MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
= 100,000
2 1,512,368
03 A& 7,632 4,320 3,312
OHEAMDIEOIIIE LA AL LY
2,120,000,00021%0.36/100 7,632
D BE s 418,400 309,870 108,530
201 L2yl 180,500 400 180,100
01 AFR2elt] 180,500 400 180,100
OAFDHSOF SEX 248 X 500,0008 13l 500
OHNBYEAD E28 OWKIR  60,000,0008 60,000
OHFYEAD LI S22 O YL
o 60,000, 0002 x20H & = 120,000
01 YsrBAZ 4,380 5,830 A1,450
10 BAAHIZ A3 4,380 5,830 A1,450
OANDLHES|, H2er DSFAL 24
5, 00091 +44% x4 3| 880
ONEAYZTNS L FEI2EYIIS &
ZOCIY 5, 00021 2002 %23 2,000
OB420 BY, CHF DEHFLR S
50,0002 ¥30 * 18] 1,500
307 eI2t0|H 40,000 100,000 60,000
04 DINSABE 40,000 100,000 160,000
OANDLRA)| BARE(FLEL =S
sl) 40,000, 0002! 40,000
402 QIR OIF 193,520 199,460 A5,940
01 PARESE 193,520 199,460 A5,940
OADH ZAIDE =4 XD
50,000, 0002 ¥5hax0.5 125,000
OALD 2IB4E X2 1,000, 00021 ¥20hax0.5 10,000
OADH 2 X2
1,5002! +14,0804¢ Xt+0.5 10,560
OB+ ZRUH X X
900, 0002 * 10hax0.5 4,500
OB+ SXNTLX &Y DAY X2
2,620,0002! *16ha*0.5 20,960
O+ ZIA RUE N
2,500,0002! *10ha*0.5 12,500
O+ DAFAN K&
10,000, 00021 x2CH 0.5 10,000




A sII=4H

M AoSH 0T 1
o2 HEAID SES 4 (chel &)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
s&2 Mol 285 XA 115,500 115,500 0
& 115,500
402 QIEXE01H 115,500 115,500 0
= 115,500
01 BIZEXI=22 X 115,500 115,500 0
O=s&= Mol2E&z XA 115,500,000& 115,500
< 115,500
S2HIcl THEHE X =4 69,000 69,000 0
= 28,000
i 41,000
402 BIZ2HX =0l 69,000 69,000 0
& 28,000
= 41,000
01 QtR=8=x 69,000 69,000 0
o222l MM KZA K& A
69,000,000& * 104 A 69,000
< 28,000
o 41,000
St=FE N33 MY 53,752 284,538 A 230,786
= 26,876
i 26,876
201 Lt 3,420 7,800 24,380
= 1,710
= 1,710
01 At=2teldl 420 800 A380
OEZ=E AMEX H40 HX
60,0003 *72l 420
= 210
o 210
03 A2l 3,000 7,000 24,000
OZE 2 N4 228 =42 29
2,000,000& 2,000
= 1,000
o 1,000
OEHEZZREHI 22 H&
1,000,000& *13] 1,000
= 500




A sII=4H

Wi

M AoSH 0T 1
ol D BES S4 (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
i 500
301 YBtEa= 2,600 4,400 21,800
= 1,300
= 1,300
10 SBAAH2AZ 2,600 4,400 A1,800
OEHIZZEHX WssEAI AU
400, 000& 400
= 200
o 200
OEZRECX Hotg &It B4
1,600, 000& 1,600
= 800
o 800
OHIZIEGI A&X| Ast 24 600,000 600
2 300
o 300
402 QIZEXE01™ 47,732 272,338 A224,606
= 23,866
= 23,866
01 QUAR=2EX 47,732 272,338 A 224,606
OHZZE HEMACK |4
47,732,000 * 10 2 47,732
= 23,866
= 23,866
Dpke MAD| B KA 1,843,398 1,423,877 419,521
= 6,419
Il 916,000
= 365,768
= 555,211
FTAALS HI &l =2 2 22| HI X & 8,000 11,000 23,000
Il 8,000
201 ZEH2EH] 8,000 6,000 2,000
| 8,000
01 AtS2eld] 8,000 6,000 2,000
OFTAISXREHE +8 MYl 4,850,000 4,850
| 4,850




FA s8IsdH
M QOISE eZpy
CHR: DAY M ALD|B

TUHE ouvw

SA - HB B9 (E) - NRAY - Ba S Lo e DS
Ot TS &o+d
70,0003 x 15 32 3,150
Il 3,150
HAAIL S U E 1,816,000 1,070,000 746,000
D) 908,000
= 363,200
o 544,800
402 SI2tt=0ld 1,816,000 1,070,000 746,000
Jl 908,000
= 363,200
= 544,800
01 222X ,816,000 1,070,000 746,000
OLNSHUMAIE SHUSAL
1,816,000,000& ,816,000
Il 908,000
< 363,200
o 544,800
FTA e d&elg &d 6,560 5,800 760
201 Y2yl 1,560 800 760
01 AtR2teld 1,560 800 760
Oit==sItd & X A St 800,000& 800
OFTALt == IHESE) DS YAsE
190,000& *42] 760
301 etEd= 5,000 5,000 0
10 A HIZEdS 5,000 5,000 0
OFTADt =St 1= 5,000 «250H #4323 5,000
Dt=HE A HEIX 12,838 15,668 A2,830
= 6,419
< 2,568
s 3,851
402 22tt=E01d 12,838 15,668 2,830
= 6,419
s 2,568
= 3,851
01 222X 12,838 15,668 2,830
Olt==2 ZHI XA 12,838,000 12,838




A sII=4H

M ASE olTp 1%
ol DpA At A X4 (EHo &8
5 o SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
= 6,419
< 2,568
2 3,851
SN RS SIS 1,651,100 463,816 1,187,284
= 537,550
= 1,113,550
~E=0t N8 450,000 197,800 252,200
201 sty 3,100 0 3,100
01 A= 22/t 3,100 0 3,100
Ox&=0t Astxg AX 500,000 *13] 500
OB 40t HI= 50,0002 *123] 600
O+B=SHE 222 MX
1,000,000 *23] 2,000
301 YsrEAZ 24,000 9,800 14,200
10 BAFAHI2AZ 4,000 9,800 5,800
SOtRS EA|
10,0002 %4002 4,000
20,000 0 20,000
SRS (223l) &4 ool 2
&t 2,000,000% *103] 20,000
402 QIHXHZOIH 422,900 188,000 234,900
01 SIAX=RE 422,900 188,000 234,900
QMg +E=T(USES)NS N
750,000,0002 #0. 1 75,000
O+BSSMNE +STHY X2
1,000 70, 0000H 70,000
O+ZE(3t2S) 5It RIIE HIEX &
10,0009 %39, 750 +0. 4 159,000
OXBATH Mo HMST L BAIEES X
2 83,900,000% 88,900
0%l +ZEH NSNFD &1 N
60,000,0002 *141+0.5 30,000
+E5UHX XY 1,201,100 238,176 962,924
= 537,550
= 663,550
402 BI2EXHZO0IH 1,201,100 233,176 967,924
= 537,550
z 663,550




SN S L HE
Hy: ANSH QT &

=
BHel satE 20|82l

Wi

SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 BIZtA=2E=x 1,201,100 233,176 967,924
Ox=&=d N3z A& 16,000,000& 16,000
< 16,000
O AEE2SAS 38,000, 000& 38,000
= 19,000
[ia 19,000
Ot AHEE X2
247,100,000& 247,100
< 123,550
i 123,550
O==%)| 5 HEF AE 160,000,000 160,000
< 48,000
fiis 112,000
Ox=£8) 35 2% &XAg
60,000& 4,000 m* 240,000
= 60,000
i 180,000
O==AL SUHE NHSEXINA EXZAS
3,000,000 *15CH*0.8 36,000
= 36,000
O==F0tH 0d=ES S HEIM=ZI]
PR 2,800,000& *x20CH 56,000
= 28,000
i 28,000
Ox=£8) 35 38 2% &XAMg
46,0003 *3,000m* 138,000
= 34,500
i 103,500
O==3t8l UWE Xs3t AlE XA
30,000& x5,000m 0.5 75,000
= 75,000
Ox===3% &4 X&
6,000& *25,000m 0.5 75,000
< 37,500
i 37,500
O+s#s 2 Yl N
24,000& *10,000m" 0.5 120,000
< 60,000
i 60,000
HH2EZH (5= 46H) 638, 131 596,982 41,149




M =glIsdH
M HE 22U (sLIISHH)
Cro: ol o) CLE-ED
A BB O(B) - NEAY - BAS Of o e Hl R =2
ol 2HH| 417,951 406,155 11,796
ol 2ZH| 417,951 406,155 11,796
101 el | 260,211 227,915 32,296
02 =% 260,211 227,915 32,296
Oz 260,211
oAt 2 9,796 x2H x50A| 2Hx 128 11,756
oKXl &2 9,603 x2H x502tx 122 11,524
o Kl & At 118,238
—21& 0Ol & 7,801 & x 15 «50A| 2412 70,209
—204 0I3at 7, 2773 x11H «50A| 2412 48,029
o AT AL 7,978 x2H x50 Al 2tx 12 9,574
062 8,312 x5 x50 Al 2tx 12 24,936
o7= 7,457 3 x12H «50A| 24123 53,691
o083 6,682 x5H x50 A| 2tx 12 20,046
09= 5,993& x2H x50A| 2+x 128 7,192
0 10= 5,422 x1H x50 Al 2t x 12 3,254
203 HRF&H 14,880 18,040 23,160
02 HAINMHRFEI 2,280 2,440 A 160
OSRAAI & 40,0003 579 2,280
04 REN2IIRFLEH 12,600 12,600 0
ORA2LYRFEHI 12,600
o=&1t 350,000 * 123 4,200
o= A&t 350,000& x12& 4,200
o RS 350,000& *12& 4,200
204 Z gAY 142,860 160,200 217,340
01 ¥ SHSHAH| 5,400 8,400 A 3,000
OXUZYREXY| 5,400
oad 150,000& =123 1,800
o & 100,000& *3E = 12& 3,600
02 AsE2xl 103,260 114,600 A 11,340
OF =1 103,260




A sgllsdH
M HH2IAH (sYIIs4H)
el e 2| (298
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
oaH 250,000& x1H 122 3,000
outH 250,000 38123 9,000
o AT XI At 155,000 & 28 « 122 52,080
069 155,000 6 123 11,160
o7g 140,000& 7 x12& 11,760
08-92 105,000& «12H x 123 15,120
0102 95,0003 x1H~ 123 1,140
03 SZYR=LE =4l 34,200 37,200 A 3,000
O sl 50,000 «57 &+ 122 34,200
Jl=2&H| 220,180 190,827 29,353
Jl=&Hl 220,180 190,827 29,353
201 LEH23H] 155,156 127,927 27,229
01 AtR2teld 44702 34,954 9,748
Ogtt==3H| 17,752
o =EAEX FHI 14,064
—AM 20,0003 x57H 128 13,680
—B4 32,0003 18t A 128 384
ogAE EBFF AMEH 50,000& *82 400
otl2 =S 70,0002 3t x12E 2,520
o &I a=Exx2 8,000& 8«12 768
Oo=2g=¢ 23,950
=% 50,0003 #3652 18,250
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